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797%% RWANRT K997 9991 9377 — These words were said only where
he considered the recipient’s hand significant

Overview:

The & na states that if 737 °27 would have said only the 17 that 27X 5w 17
7"¥721% 2w, we might have thought that it applies only when there was a
specific intention to place the object on the hand', however where there
would be no specific intention to place it there, but rather it just happened to
land on the hand, I would say that it is not considered a 7"v7 0, therefore
11mY° °21 tells us the other case where 17°2n YW 17° 7102 1Y yo11 P71, where there
was no intention, it just happened to land in his hand, nevertheless he is 27,
because 7"v7212 72w 07X W 17° even when there is no intention.

mooin asks; let him say only the case where there is no intention, and I will
surely know that the same applies when there is intention.

DophT RO KDY 77 X129 9%KRN a8 — You may ask; let him say just this case
of Yan W 17 72 i yon P, where there was no specific intention that it

land y7°21 5w 17> 7302, and he would not have to say the previous 7, that 17
"7 9¥ '72 7% m2wn oR YW, because I will know it already from the case of 7In2 1 yor P
17221 YW 170, where there was no specific intention, and still it is considered a '7 2pn, and
certainly where there is an intention, so why make both statements.

NIRRT WY W — we can answer that if 737 °27 would not have said
explicitly that 7"'v73 12 72wn 078 > 17> and would have only said the 7 of
19°2n 5w 17 02 ) von P, I would have thought

'7 By '7> mawn aman PIvh 8917 — that only concerning a mman is a hand

considered as a 7''v7 01P1, since that case is only speaking about receiving an object
in one’s hand

XY 779pw 5230 %2 — but in regards to 779py I may have thought that the

hand is not considered a *7"v7 o¥pn, therefore 13m *a7 has to say explicitly that 5w 17
7"v75 12 72wn 07X in all cases whether 7Py or 737 [and the case of 17 T2 mn yon po7
17°211 Hw, lets us know that even when it’s not intentional, it is still considered a '7 2pn].

Summary:
The statement 7"¥72 12 72w 07X YW 17, teaches us that this applies both by

amIm apy, and the 77 of 17°am Bw 17 N2 11 yon PO, teaches us that it
applies even if there was no specific intent to place it on the hand.

!'See Aow 1 1"K ®9X 71"7 2,7 7 'O
2 See Xn 1 1"7 QW '0IM "I N7 RAPTI 2,7 XA



X2 2" "7 ' R, a7 naw 702

Thinking it over
1. Why do way say that the statement of 177217 5w 17° TW2 1) 911 PO7, means
that there was no intent that it land 177211 5w 17°2?

2. The 0"27n asks: How can m»01n ask that 1371 °27 should not have said the
17 of 7"¥75 1% n2wn 07X YW 17°, how would we know the reason why he is
211, we may think that 717 °27 is of the opinion that a '7 @p7 1s not required
at all?’

3. How may we differentiate between the two types of statements said by 29
112

? See DMK *191 A7 WY



